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QUESTION 1

An administrator is planning maintenance for a cluster with the following configuration: 

1. 

DRS is fully automated 

2. 

Dedicated 10GbE vMotion network 

3. 

iSCSI storage with CHAP 

When a host is placed into maintenance mode, what is the maximum number of supported concurrent vMotion
operations? 

A. 4 

B. 6 

C. 8 

D. 10 

Correct Answer: C 

 

 

QUESTION 2

An administrator suspects poor VM performance. The administrator runs esxtop and sees the following output from the
CPU and memory screens: 

6:48:19pm up 4:22, 528 worlds, 8 VMs, 16 vCPUs, CPU load average: 0.26, 0.36, 0.16 VMKMEM/MB: 8151 managed:
407 minfree, 3055 rsvd, 5095 ursvd, high state 

What can the administrator conclude from this output? 

A. The host has too many worlds running. 

B. The host is ballooning. 

C. The host has adequate memory. 

D. The host is under CPU pressure. 

Correct Answer: C 
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QUESTION 3

The VM storage policy compliance status is out of date. 

Which step should the administrator take to maintain compliance with the existing storage policy? 

A. Change the service level capability. 

B. Assign a new storage policy. 

C. Reapply the storage policy. 

D. Migrate VM to another host. 

Correct Answer: C 

Reference: https://docs.vmware.com/en/VMware-
vSphere/6.7/com.vmware.vsphere.storage.doc/GUID476613DD-787A-4E97-8FA5-00639D206FD2.html 

 

QUESTION 4

A vSphere administrator creates a VM with 2 vCPUs and 4GB memory. A 3GB memory reservation is applied to the
VM. What size is .vswp file when the VM is powered on? 

A. 1GB 

B. 2GB 

C. 3GB 

D. 4GB 

Correct Answer: A 

 

QUESTION 5

What should the administrator do to monitor the size of the VM snapshot? 

A. Use native Guest OS monitoring tools. 

B. Install VMware Tools. 

C. Create a condition-based alarm. 

D. Run esxtop. 

Correct Answer: C 

Reference: https://kb.vmware.com/s/article/1018029 
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